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��3����� ���� )��	$��� �?
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$ �

��� 2*����� 9����� �����$ 
��� )
B�
��$ @(* C�	
��*� ����� D	
�E F��6 G�
�PSIM ������� 23 .#�3 
H��$ ���* ����+ 

#(���� �� 1�!� �
7��� 
�* ���* ����+� 4	
$� 9������ �$� �!$��� ���
�� 
�((�� )��?
9�����.
��7E A
�� �E� 9������ ��(�* :<
�! )�

��� 9����� ����� BH�1=� /!�� #�
��3��� ,��6 

�!$��� 23 �
����@(* ��?���� )������� ��$�6 �!$� �
�� �
$!�� .
���
����� �
�(!�� :��

��� �
������–�
��3����� K:�	���� �
������!�8 –�
�6�
��� 
��*

��� :	
�����K��3�
��� :	*
.

1����� 
�� ��"�!��#�� ���$�� ���"�!��#��� ��#���#���� ������� ���#����� �
��� .
2����� 
�� ��"�!��#�� ���$�� ���"�!��#��� ��#���#���� ������� ���#����� �
��� .
3����� 
�� ��"�!��#�� ���$�� –���$�� ��
� –�!����&�����' 
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1-�	���:
�����+#�,� *-�!��� 
��.+�� ����+AC/DC & DC/AC Converters *���!$+�� /' 

������+ �!�� ��&� 0�!�1 *����+ ��+�+ /�� 2��� 0��+' �# �3. 0��!# *-�$�! �
��!��� 4�56 ��! ���!+�� *��+' *-��$�� 7+�! *���'��+�� �� ���
�� ���+ ���8' �5� 2

�!� �)�+.� 9��� �#.���� /)' 9��+������ ��+��+ ���+ �!+� ��#+ ��$�� 9��(6
 ���  �8' �5� 2:!���� �+�+ ���+ �!+� ;
< ��(�� /<�!� ���+ ��� ;=� �# ��1 >

�!�1 ������ �3�. ���+�� �5� �!#�� /' ���� 2/!�� ��& ��� 2:!���� �� ��+�?�
�� ���
�� �(���� ����)��� ������� *���'��+�� 7+�2���� /' ��6 ��� ����$�� /��3

;1�<��� /1�)+��)��+��#(PD3  Three Phase six Pulse Bridge 2*�� ��B+' 
C��+ �$��� /' �)�+.� �(��D ����� ��1  ��E�+ F���6)0α= 0, α=18(2��1 G3<'

 (� �1 ��+�� �+�+ *���' *� ���B �����+#�,� �=��
�� ��=�+�� *�B .���( /' 
���+�� ��!� �6 /�3���$�� :(Cyclo-Converter) 0����� 
�.+���� *�#�(��� �1��

 ������+�����B�+���#!��� ���+ �� I��6 ���+ ��1 G��"�� ��
�)Ff 32≤(9�J�' 2
��<
! 2��"�!��#�� �#!��� /'  ���+ *����+ F��� I�D �#!��� ���+ �� I��6 ���+ �5 

<
!��0�1 I�16 ���+ �5 �.K�  �� *��� # 2��� *���� *�����+ >��+ ��  �6 ��
 ���+�� C5� 2�#!��� ���+ �� �(�(= 7���<���B+�� ��&� ����� ��& *� .����� L

G�<�6/"�!��#�� M����! ��=�� ���'6 Furnace ِArc- 0���!#�� *�1�$+�-� *�5)1-
100 MW(/' 0�!�1 *����+ F��� 7!�+ /+�� ��$.�� ��& ���(�� �!#6 �� /�� 2
�! 2�#!��� � 2/"�!��#�� ��)�� ��< ��(+ /+�� 
B+���� ��& �=��� 0���B 7!N
O� �� 

��!�� ��& �#�! ����� �#!��� P!=+� �#!��� ���+��� �+�+�� /+��� /' ��E+ �=(�
��+G�� [6] . 
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 ���(6 ��6 *�#!���� /' ������� ���(�� ��#6 �� G�<�6 /� ���8' ��+�������)�� 0���,�
 �
+ /�� ��"�!��#�� ��!�� ���& *����+ ����+� ��Q���� 0����� L3�+�� I�1 ��/�' 

�#!���.
�6 ��# ���#+��� 43��,� *����1 F���D� ��(3�� ��1 ��"�!��#�� *-�(��� ��E�+

 ����+� �+�+��� ���+�� /' 0�!�1 *-�( 7!�� ��<��(+�� *�#�(���G��#!���� /�' 
���
��.

��$ *5.6"��!���� ��
�� ����B�� C5� *������� /' �1��! ��$++� ���+ ��+��
 20��.�� �1 G3<' *���'��+�� M��� 0���6 �6 (Harmonics) /' 2����+��� �+��+�� 

/�#�� C��+�� �!�� ���(+�)Total Harmonic Distortion(�+�+��! THDv ���+��! �6
THDi ���(�!�� :��� ����+� /' *(!=6 .���B��� 5��)�+� 
��=�+ ��>��� �#�

,� ��(!�� ��$ /' /� /!���� �#��� �#!��� �+�+� ���+ 0��1D I�1 0������ �����+#�
 *������+�� ��� �����& ��� G������ G����
+� ����� �)�# ��#6 ���6 ��# 2���(+���

�����+#�,� ' 2R��
+� ����
�! 
+�� ��B��� C5� R
!(Compensation) *����+�� 
��� ��& �������� 2��!�<
!��K��.�������� ���& *�����+�� ����
�! 
+��(Non 

Periodic) 0���� ���1 �#!� ���>+ �� ����
���� R��
+�� �� ���E�� ������� /' �#� 
�!�� ����� *��+�+� *����+ 
���+ I�1�.

S+O��
?TC5� ��& *�(��� 
��.+��! *�#!��� /' �.>+��� �1�$+�-� ���1� *���'��+��
���
' (Passive-Filter) ����
' *�(�����(Active-Filter) ��1���>! ���)�+.��� :

������+�� ���
)�� *�(����� 2��$�+.��� �6 ��1�)+��.�1 G3<' 
����+ ��B�6 ���B
 6�!� I�1 ��+
+ 9�(�� �1�$+�� ���1 *�5 ����( ���
' *�.� ��B��� C5� 2T��
+�� 

/' � ����
�� *���!$+�� �� ���# 2�����+�� *-�!��� �����
$�+��� ���5E+�� *��(� 2
4�$��-� 
�1 ��B�6�…
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�
� 
�1 �#�! ����1 ���V� *�(����� ���
�� 
���)��� P�<�+ /� �(!�� �� ���E��
 ����
� ��B���� *��3
��� ��1�)+�� ���
)�� *�(����� *���#� ����� �1 G3<' ����+ 

95�� �#!��� ���+ *�)=��� ���(+ I�1 ��
� /1�)+ ��
' P��� ��1  �����+ 
+ 
�� 
��.+�� ���$ /<��(+� /��6 ��(! ��(?� 
���+ ���� 2��(!�� 
+ G�<�6 /�'

 ;��#��� �
� G�=�.� 
�B��� *���#� ���+.� M�6CW��
��� 0��� /�' )���!���
Inverter ( 95���?CX�
� *���' R��
+� �����.+�� �#�� /+�� ���+.��� 0����� ��=� 

�+�+�� /' ��(+ /+�� �#!��� ��� I�D �'�<D 2���;��#��� �5� /'�$ I�1 �+�+Vdc 
)��+���� �+�+�� ���(((DC-Link) ��(�� ��1�� ��6 �#5�� L�5# 21 ��!$��� I�� 

2 
���+�� �������
+ 
�B�� 
�.+���� :�$�+�� ���+ ����� /���+#�,� ��!��� 0���� ���V
�<!��� R�1(P.W.M)  #�,� ���!��� 0����� C��+
�� 95�� /����+(Pulse Width 
Modulation).

2:���7��� ����Theoretical Principles 
1-2 :� �

�1��
* :

I$
+ I��1 �������� 0������ �1�$+�-� ��
� ���+ /+��� ���
)�� ��B(��� �1�$+�-� 
��3
��! ��
)�� P������ �#!��� ��! �����+��� �6 �#!�����+K�:

=
⋅= ∑ )(

1
)()( t

q

i
iitiVtP (1) 

��(:q:2�#!��� /' ���$�� ��1ί2��E+� P�(= ��1 
I$
� ���
)�� /�B(��� ���+�� (Instantaneous real current) )(ti p� 2����+��

 /B(��� 9����(Instantaneous reactive current) )(tiq�#���! :
)(

)(
)()( 2 tv
tV
tPti p

p
Lp ⋅=

)()()( tititi pq −=
(2) 



�������� 
��
�� ���� �
��� ���������
��� ������ ������ ����� ��
�� �2007�.��������.��������. ����! 

135 

 ��(DN�:
PL(t) :����� �� ��(� ��� �3. �$��+��� ��(�� �1�$+�� .

Vp(t) �υp(t)   :/
����� �+�+�� ��B(���� ���
)�� 
���� ���)reference(�3�. 
��3
��! ��$!+��� ����� �� ��(� ���:

(3)∫= dttvTtV p
c

p )(1)( 2

: Tc�+�+�� ���� ��� 
��(�� ���+ 
���+ �#��ίL(t)  2/1�)+�� P����� 
��.+�� ���( /' ��� /' ��# �#�)1(

��+!#�� I�Dp(t)ί�)(tiq��
� ��( 29�� ����+ 
����+ I��1 ��
)�� P�����
)(tic��$�� �!+� �� )(tiq2 <��
+� ���+�� �6 ��( /'��
)��)(ti p
����

Y5"��1�#!��� �� .

��I$
 $��+� �#���! ��� 0�+' �3. ��B(��� �1�$+�-�/+K�:
(4)dttitvTtP x

t

Tt
x

C
x

C

)()(1)( ⋅= ∫
−

VC

iS , PS

��"���- �#!�
FGـEم BCـ@?<
(KLMـBI JـEل)

NOP(load)
iL , PL

ic , Pc

VS

�#���(1) NQRS1(ا: (NOUSوا WQXRSا YZ[ N\@M لEB]Sا JKLOSا.

R��
+ 
�B� 
)�
' P���(

NOP
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 ��( x::!���� 
�.+�� ���)S(��(�� �6 )L(��� �6 ;�#(C) P������ 0��� /'
 0��
�� /' ;����# 
��.+�� �#��� ��
)��Vs��(! DN�:

)5()()()( tPtPtP Lcs =+

�;��#��� /' ���+.��� 0����� �� /1�)+�� ��
)�� P����� ������ /+�� 0����� 5.J+C
)W�
��� /' ��+���� ���+�� ���(DC-Link ( �#��� /' ��#)2(:

�#��6#� ��+�+�� 9����� W�
��� ��(Voltage-Inverter) P������ /�' 
�.+����
 :�$����� ��=� :!��++! 
#(+�� �8'  ��1� 2��$�� /�3� �6 ��$�� 9��(6(S1,S2)

�='���*���+' ��� 0�+' /' �#!��� �� 0��� ����+�� *����1 ���(+ I�1 ��
��
����� �� �.V *�� /' 0��� ��( �6 2���+�� ����� ��E�+���.

96DN��6 0������! ���+�� ���� /' *��E��� F�� I�1 ��
�� /���+#�-� ��!��� �5� 
����� 2�#!��� ���� P!=+ I+( �+�+��� ���+�� ���� 
���+ I�1 ��
�� �.V ��!
+!

G��(- 0������ ���V R�
��� 20��+�� ��!��.

�#���( 2 )/1�)+ P���# 
�.+���� �+�+�� W�
� :

≈

�#!��� I�D

S1 S2

S3S4

C Vdc

WQXRSا `Sإ

�#���)2:(/1�)+ P���# 
�.+���� �+�+�� W�
�
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������ Tc �� ��!���� *-��
��� /' �+!�� ��& 0�+' .� �#��� 2+���
�!$� G�
!+ ����
 ���(�!�� R
!� 2�#!��� ���� /' ������� ��& *����+��[1] ��� ��5�.6 Z��+�� 

:!���� ���+� /!���� �#��� I�1 B�)(�� �=�! 2$.�� ���+ ���+� �(�(=�� 7���<���
 2G����1 ;�+.� /B(��� ���+�� ��� �1 $.�� �+�+ ���ίp(t)  ����� �6 0�+)�� �8' �5�

Tc ;�+.+� ;=�� 2/���"��� :!���� ��� 9���+ �6 �#��� 2:!���� ���+ ��� �1 
������ R��
+�� �� ���E��� 7���[� G�
!+ L�5� 2����� �(�(= 7���<� �6 2�����

���.��� �1�$+�-�� CJ���D.
2-2:��

��� �
������ L���E :
2-2-1:�2*����� �

��� 9����:Parallel Active Filter 
?�\�]!S$����;�#���� W�
��� �)C(I��1 /1�)+�� W�
��� ���#��� ����.�� *�)����� 

�#��� /' ��# ���
�� �#!��� :� 4�)+��(3) ���( ���+��� 2���+ ����#  +��� ���+� 2
C��+-�! ��#�
�� ��$���� ������! �"'�#� ��#+ ��(! �)�+.� *����+! ^���+ *����+

(�� ^���+�� *����+�����/' 0������� ����
�� �#!��� [3].
VS

�#���(3) /1�)+ ��
' P��� :

��$.�� ��& ���(�� �(�
�#!��� ������� 

VC

I injected 
 ��(�� ���+

C

AC
��B(��� ��& ���(�� �(�

�#!��� ������� 

�(�� ���+

�#���)3:(/1�)+ ��
' P���  
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 �' �5�� 2G���+� G������ G��!�� 0��1 ���
�� �#!��� ��� ���+�� ��#� �6 P�$�8N������ 
P����� ^���+�� *����+ :�� /� ��
)�� )��&���� ��& *���'��+�� *����+7����' (2

2������ *����+���
�1 *����+ ����� �� ������ ��(�� �� 0������ 2����+�� ��!1 �
��
)�� P����� �=� �$�� �!� �
����� �#!��� �
���� (Vs).

2-2-2:2(�(���� �

��� 9����� :Filter  Active Serial 
�#� �+�+ :!�� /����+�� ��
)�� P����� ��!+1� �#��(4) M#�
+ *��+�+ ���� ��( 2

^�����+�� *��+���+)�+���+�� *�����' ()Hole-tension(������+�� 
���1 2
(Disequilibrium) �*���'��+��(Harmonics) ��1 G�<�6 ��+���� :!���� �� ������� 

���(�� ;�$ I�1 �+�+�� P!=� ��(! 2�#!��� *�
���� �!1 ^���+ *����+ ����
5  +���( �������/��� /!�� �#� .

2-2-3:�������
2*��� �!������ K2(�(�� :
=�� /1�)+ P��� �� ��#++�' ��# /����+ P��� :� ��#��� /(5) 2
�B��� �5�

 ����+� �+��+ I�1 ��=(�� �#��� 2��(����� 3# *���� �� 0��)+�-�! ��� P���
��"�!��#�� �#!��� /!��.

Vinj

�#���(4)/����+�� ��
)�� P����� :

��+���( ������ ���(�� �(�

VC

V injected 
 ��(�� �+�+

C

AC
������ ���(�� �(�

��+���( 

�#���)4:(/����+�� ��
)�� P�����
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2-2-4:���� �
������ ��(�'� ��M� ��

�����

�:
*����'��+�� �����
� �#�� 2��+)�# R�).+� ���
)�� *�(����� 
�( ��E=+ ��6 ��

 �� :�� F���8! I��1  �$!�� �$��+� �6 0��E= �1�$+��! ��
' P��� ��! L�+
! ���
' ��& *�(��� :� �#!�����#� 0��!# *�1�$+�(6).

�"���� *���'��+�� ;5( ��
)�� ��& P����� ���� �20�$����� 
��� ��( /' P������
 ��
)�� I�1 *�!�#�+�� G�����1 ��� 2*���'��+�� �� /��!�� F���� ;5(��+K�:
•��� ��1�)+ ���
' ��& *�(��� :� /����+ ��
' P)6-a(
•��
' ��& P��� :� ����+�� I�1 �=�� /����+ ��
' P���)6-b(
•/1�)+ ��
' ��& P��� :� /1�)+ ��
' P���)6-c(.

�#���(5)/1�)+ /����+ �#�+���� *�(����� :

iinj ������� ���(�� �(�
��+���( ������ 

VC

V inj 

AC
���(�� �(�
������ �������

��+���( 

�#���)5:(/1�)+ /����+ �#�+���� *�(�����
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2-3:9����� 23 :�	��� /��'� ���+ :
/1�)+�� ��
)�� P����� /' 0����� ���.+ ��+
� ;��#� 
��.+�� I�1 /����+�� �6C

95�� /+����# ��&9�J� ��+�� ���+ :!�� ��� dcV.�5��� /���
�� 5��)�+�� ��1�
 ��+���� ;�#��� �+�+� �!����� �(� 
�B� ���>+ 7�� 
�B���dcV���+.� ����1 �D 2

���.+�� 
�B� ��
!6� *!���,C)dcV(R���
+�� ��1�� /' /#������� ��
' ��� ��� 
/1�)+�� ��
)�� P����� [2] . 

0��+���� ���(�� /' ��+���� �+�+�� ���� ���+.� �6 B(3� 7���+��� :������ ��DC 
Link �� I�162I�D 5��
)�� P����� F��6 ���(+ I�D 9�J� :!���� �+�+ �� *���

[1] . 

+ �6 ��# ��+���� :!���� /'�$ I�1 >��+ /+�� ��+���� �+�+�� *���dcV��+����� 2

;�#��� �(� ���+� �+�+�� $�!� �1 0��1E��)+� ���!� �#�! ��J+/'�
��� ���� 
;�#��� 0��+.���C7��� �5�� 2 P����� R��
+�� 0��� I�1 /!�� �#�! ��J+� 2


�B�+ �1 ��+���� �+�+�� ;�#��� /'�$ I.����# ��#>+��! *���
+�� C5� ��$� ������

(b) /1�)+ ��
' P��� :

��(�� �(�
 ������ 

AC
��
' ��& P���

(a)/����+ ��
' P��� :

��(�� �(�
������ 

AC

��
' ��& P���

(c)/1�)+ ��
' P��� :

��(�� �(�
 ������ 

AC

��
' ��& P���

�#���(6) ���
' ��&� ���
' �#�+���� *�(����� :  

�(�
��(��
������ 

�(�
��(��
������ 

:(/1�)+ ��
' P��� b)

�(�
��(��
������ 

:(/1�)+ ��
' P��� c)
�#���)6:(���
' ��&� ���
' �#�+���� *�(�����
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 C���+ �E=� P����� ���+ :)+�� ������ *���'��+�� 5.J+ ;�#��� �
� ����+ ��1 �5� 2
;�#��� �
� �����6 I�1 7�(�� ��'5( ������ ���+�� ���� ��C.

��$ 0�1 L��� "�;�#��� �
� ���(+� �C���� :
2-3-1:@���� �������:

��� ;=�� �3�. ���
)�� P����� ������ �6 �#�� /+�� 0����� 7��( I�1 ��+
+
 � ����.�� ��+��'��+�� *����+! �$!+����� �1�$+�-� �
!���� ��+��# ��� �� �"�����

);1�<� /1�)+ ��$�� /�3� 
���+ ���PD3(.T���
+�� �!��� ����+.� �
!�
07.0=ζ� /+��� ����� �5�� T��
+�� ���1 ����1 ��$ζ��(��D ������ ��12 

�)=�� ������0=α.G����+1�� ��+���� �+�+�� ���� I�1 dcV1 T+���� ����� �2
��3
�� 
��.+��!��+K� ;�#��� �
� 7��( �#�� [2].

)6(.2
)72cos(.2

2
75

2
7

2
5

dc
s

dc Vw
IIIIVC ζ

αα −−+
=

��( :Vs 2 �#!��� ��
)�� ��$�� �+�+α��$��! �(��,� ����� .
75 , II:�� *����+�
!����� ����.�� 7+��� *���'��+ .
ω:I�D 9���+� ������� �1����fπ2.

2-3-2:����������
��� :
I���� *���'��+�� ���+ M��� I�1 ��+
+ �$��! ��#�� /��hI�� �
��� 7�(+� 2

��3
�� :
)7(

. dch
hdc Vw
IC ζ=

��( :hh fw ..2 π=� ���'��+�� 9����� ���+�� /� ��<��
+ �����.
ζ:����� W�
+�� ���1 
�.+���� 
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2-3-3:���
��� ������� :
������� I�D �=+ 0����� C5� �6 ��!+1�! ;�#��� /' ���.��� 0����� I�1 G�<�6 ��+
+

 ����� ��1 I�B
��2t�(���� ����( I��D _���)+�� ���( �� ;�#��� ���+�� �3. 
M#
��!� [3] �� �+�+ ��#� ����1 �)=�� 9���+ 0����� C5�� 2�)=��� G������ ;�#�

0=cV8'  ��1� 2N������ �� G�F�! ���.��� 0����� ���� 1tI+( 2t��!
+�� �#�� 
��3
��! ���1:

)8(..
2

1
∫=∆
t

t
dtiVW

���.��� 0����� ���� �� G��3$��W∆�� ���3
�� 
��.+���! ;�#��� �
� 7��( �#
��+K� :2)(

.2
dcV
WC ∆=G��B�� 2���+���� �+�+�� ���� :'� �dcVF��6 ��� ��(�

 6� 2���#5 ��# *�(�����N�`���. :�� 0���!� ��31 ��� ��+���� �+�+�� �5� ���� 
:$��� �=��1+�������)$+�-� *���+�����+�1� (W�
��� ���#���(Inverter) 8'a� 
��#+ �6 7�����+#�,� :$����� C5� *�)=��� �+�+�� �5�� �!���� ���.+���� �� .

������ ���!+�� �(��� �3. W�
��� ��1 ���K 0��
��!�/������ �3. ��! 
��� /+�� 
(���� G��(- P<�+� /+��� ������� �B���!� 2(1) � 95�� G��(- �'���� I=��6 ���!

 � C���� �6 �#�� �+�+ ��
�� *��+' �� 0�+' �# /' W�
�� � �+�+ I=�6 �6 ��� 2�#�
 ��! Z���+� �����+#�,� :$����� I�1 CF���dcV32±D 96 b�7����  500 *��' 2

I�1 �+�+�� ���� �#� ����+! ���� *���
��� ��E�+ *����1 �3. ��� G����1 �#�
 �=��
�� �#��� /' ���!��� 2 9��1 W�
��(8) . 

c5dD 43�<6 ��(� 9���
�� ��+������+�� /'�$ I�1 �+�+�� �#� I���� 0����� ��!+ 
���� 2 /�)��� ��+������+�� /'�$ I�1 �+�+�� �#� ������� 0����� ��!+ ��( /' �����

 �� �� 6 C316 �#�b����!+ 0�+' �# ��1  I�1 0�!�1 �+�+ ���� >��+ 2��+�������+��
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 I�D ��+��� �=+ )2-3(���+.� 7�� �5� 2�!$��� ��+���� /����� �+�+�� ���� ����6 
I�D G0��1 �=� 95�� :$����� 7���� ��E�+ �+�+1200 C5� ������ �� G����(+ *��' 

:$�����(IGBT).

2-4:*

��� ��������A�
��� ��������� G�
��� ��
� 2:
�#���)9(��$�� /�3� �+�+ W�
� ���� 6 �� 95�� 2���
)�� P������ 7�#�+ M��

/1�)+�� ��+������+ 4�� �� /� ���.+���� �=��
��� 2IGBT.
?Z]�c�S+�<!��� R�1 ���
+ ����$! 4��5 �#� /���#+ �#�! PWM �5D ��(! 2eE�S�f�

I�1 ��
� :$����� �(6 4��5�� /' /����� :$���� �='  �)� - I+( 2?�;��#��� ?�]=c�
)��+���� �+�+��([4].

�#���(8)�����+#�,� :$����� �(6 I�1 �+�+�� ���� �#� .
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�!���)9(2*����� 9����� ���$ 
����� ;��� :$����� 0����! 
#(+�� I�1 
�.+���� �<!��� R�1 ���
+ 
�B� ��
�

 :$����� �1���� I�D(T1,T4)��(� 73� :$��! S1��
� ����1  �� T1���#�T4

��
<���!� Z���� ���(� ����� G����((1) ��� ��
� ����1 ������� ���(�� /' M#
T4

��#�T1��
<���! ���(�� 5"��1 ����� G����((0) :$����� �1���� L�5#� 2(T3,T6)
��(� 73� :$��!S2�:$����� �1����(T5,T2)��(� 73� :$��! S3� 2������ �5
��+K� *��
<��� :

T1� �=�� T4���( ←S1=1 
T1� ���( T4�=�� ←S1=0 
T3� �=�� T6���( ←S2=1 
T3� ���( T6�=��←S2=0 
T5� �=�� T2���( ←S3=1 
T5� ���( T2�=��←S3= 0

�4�
��� �6 ��!+1�!fVW�
��� W�. �+�+ �� 8' 2N������� *��
<��� /4�
���� 
fV�#���! ��(�<�+ �#�� (10).
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 ������ �6 ��#(1) P�+�)��� *��
<� P<�� C���6 ):$����� (�
�6 
��� ���( �# /'
 *�����(,� /' �+�+��αβ ,C��!+1� �#�� 95��� W�
��� �!� �� C����+ 7����� 

W�
��� /
����� �+�+�� [5].

��� ��	6(1)� �?���� �?��� �
�
-� /�$� /� L��= �!EB�
��� ������ L

� ����� �	$��� L�=
 �$���� ������� ������ ��P	$ 

Vf3 Vf2 Vf1 S3S2S1&'ر
 ا*,+*(

0000000
-Vdc/3 -V/3 2Vdc/3 0011
-Vdc/3 2V/3 -V/3 0102

-2Vdc/3 V/3 V/3 0113
2Vdc/3 -V/3 -V/3 1004
Vdc/3 -2V/3 V/3 1015
Vdc/3 V/3 -2V/3 1106

0001117

α
SV

)0(fV

β

)7(fV)6(fV

)2(fV )3(fV

)1(fV

)4(fV )5(fV

�#���(10):4�
��� /������ *��
<��� ��!�fV
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2-5:� 
7�� �*
���P���*����� ��

��� �
������ 23 ��:
��� �#!���� ����+ /' ��"���
�� *����+�� R��
+! ��1�)+�� ���
)�� *�(����� 
��+

�3. :
1-R��
+ �!+��� �)�+.� *���'��+�� ���+ .

-2����+ R��
+ �1�$+�-�� *���'��+�� *��Q���� .
-3����+�� 
�1 *-�( R��
+��Q���� �1�$+�-�� *����+�� /' .
2-5-1:�
��3����� ���
�� >��
� :

�� 0��+���� �1�$+�-� ��#++�3� �� ��$.�� ��& ���(�� �!� #�� �����6 *�!.
���
)�� �1�$+�-�Pa��Q���� �1�$+�-� 2Pr/�'��+�� ^���+�� �1�$+�� 2Dh���

N
O� �����B�� �1�$+�-� ��#+ SS:
)9(.3222

LshraS IVDPPS =++=

��(:sV:��������
)��� ���$����#!��� �+�+� P����� $!� �$�� ��1.
LI:/$.3�� �#!��� ���+.

��
)�� P����� �����B�� �1�$+�-�filS����+ R���
+� �#!��� /' ����( 
�3�� 
*���'��+��hI��(�� �1 T+���� � *���'��+�� ���+ R�
+ �6 ���
+ �6 7�� 2�1 
����

��(�� 2G��B�� ��8' �+��# ��� �� M���� /' ��(�� N�
)�� P����� �6 7��� ��
 �+��# ��� �1 ��+���� *���'��+�� *����+ R�
�)7�( �6 
�.+����� ����� 4�� (

8'  ��1�N�:
)10(..32 hIsVhDS fil ==
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 D ��(N�*���'��+�� ���+ ���� ��(�� /�#�� ���+�� �� G�F�� �#�� ����+ Z�$ g��� 2
������� �!#����fonI�� ��(�� ���+ �� *����'��+�� ����+ I�1 �=(� /�#hI

��3
��!��+K� :
)11(22

fonLh III −=

��+���� ��(�� ���+ :!+� ��$�� ���3� 
���+�� ���� �!� �� ��+���� �#!��� ���+ �D

�� �� 7�(?����3 :

)12(cos3
2 αcILI =

��( :cI:��+�� 
���+�� ��� �1 T+���� ��+���� �.
������� �!#���� ���+ �6 ��#fonI��+�� ��-�! I$
� �6 �#�� ����� ��+����� �

��3
��! 
���+�� :
)13(6

cIfonI π=

*��3
�� R��
+!(12) , (13) *��3
�� /' (9) , (10) ���� 7�� F���D� �1�$+�-�
 P����� �����B��filS���#�� �����B�� �1�$+�-� I�D ���
�� �6 ��� 2hχ��-�  � 

P����� �1�$+�� �!�� I�1 �1�$+�-� I�D ���#�� �����B�� �'�
� :�$+�� /# L�5� 2
� ������ ����� R��
+�� *����1 /' /1�)+�� P���� ��=�.� 2���(�� ����+ �6 

G�
!+ ��E+� ;�� ��+���� �� ��$��! �(��,� ������  ���1� 9��+������� 
���+�� ��
��� :

)14(..3
..3
LIsV
hIsV

sS
filS

h ==χ
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429.0.32

)
)32(
)6(1.( 2

22

=

−
=

c

c

h I

I π
χ

���+�� 7��( �#���cI/+K� �#���! 
���+�� ���� /' :
)15(cos.

L
co

c R
UI α

=

)16(63
2
3.2.2

ssco VVqU ππ ==

��� R��
+��!� :απ cos63
sc VI =

��( :coU
����� �+�+�� ��$��! ��.>+ ����� ��1 0=α
LR:����-� ��(�� ������.
α:�(��,� �����.

=3              q:���$�� ��1.
��� C316 ��3
�� �� � ������ �!�� �6 ��(��D ������ ��12 ��
)�� /1�)+�� P����

 ���
+ 2�)=�� 9���+ 9��+������ �����30% ����D� ����#�� ��(�� �1�$+�� �� 
� �����! ��>++��.>+� ��$��! /$. ��& ��(# �!+
��� �+��# ���� .

��� ���
�� �1 ��!
+�� �#hχ�#���! ���� �� /+K� :

)17(

3
2

)cos6()cos3
2( 22

c

cc
h

I

II απα
χ

−
=



�������� 
��
�� ���� �
��� ���������
��� ������ ������ ����� ��
�� �2007�.��������.��������. ����! 

149 

 �.�+ 
� ��(αcosP!=+ /��+��!� 2 �(��D ��� ��(�� ���# ��5.6 ���� 
����� /' 
hχI�D ������ :

)18(cos294.0 αχ =h
��!���+� 6 g�� R���
+ �1�$+�- ���+(� ��$��! �(��,� ����� *�!# ���#  � ���6

P����� �� 
��+ .
2-5-2:��3����� ���
���� >��
� ���Q	��� �*
���P�� :

�X�� ��Q���� �1�$+�-�� ���'��+�� *����+�� R��
+! 
���� /1�)+�� P����� �6 ��+���

8' �5� 2�!���� /$.3�� ��(�� �1N�������� ���
�hrχ�#���! I$
� :
)19(..3

22

Ls
hr

s
fil

IV
DP

S
S

hr
+

==χ

LIsV
hIsVfonIsV

hr ..3
2)..3(2)sin...3( +

=
αχ

��3
�� ������� /' ��� C316 ��3
�� /' *����+�� 
�� R��
+!��+K�:
)20(cos.91cos 2

2 απαχ −=hr 
������� 
�� 0�1 5.>!α��1  �� ��� 0=α��!����� R��
+�� �!�� I�1 �=(� 

�)���294.0== hrh χχ0����! �#� α����+(� �6 �#�� ���� I=�6 �6 ��� 
��1 ��#+� R��
+��o42=α�!���� ��#+�� 52.0=hrχI��1 ������ �5�� 
�)+�� P����� 0���� 0��� 7��! �1�$+�-� ���1 ���(+ I�1 /1.

2-5-3:�
��3����� ���
�� >��
� ��Q	��� �*
���P�� /������ �	*� :
Q���� �1�$+�-�� *���'��+�� *����+ R��
+ /1�)+�� P����� �����!� ��# �� 2G3<'

 *����+�� ��! ����+�� 
�1 ���( �1 2����$�� ����3� �#!��� �� G��B��)� -����
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9���( (
�X�/��#1 ����+ ��-�! 0�$
� ����+�� 
�1 0���B �6 iI���
+��-�! 2
����� �#�� ��!���� *��3
��! :DN��!�� �#���! I$
+ �6 �#�� *�1�$+�-� :

)21(..3
)..3()sin...3()..3( 222

Ls

hsfonshs
IV

IVIVIV
hr

++
=

αχ
��� R��
+��!� :

)22()(9)]sin.1(91[cos 2
2

2
2

2
fon
i

I
I

hri παπαχ +−−=

*��# �5D0=
fonI
iI��!���� ��3
�� ��
� (20) �!���� *��# �5D�0.4 '8N��1�$+�� 

��$��! �(��,� ����� ������ :� ����+ ;�� �����+��� ��
)�� P�����α�=�+�� 
���(� �!����0.65 ��1 o45=α.

2K6:>��
��� 1�!� 	

$E 	�	�� :
#� $!��/���+#�,� ��!��� �� ��+���� �+�+�� ���! ;�Inverter  +
�� 7��(+� 2

*��$
��� �� C�+�+� ��Q����  +1�$+�����+K� :
�;�#��� �+�+ 750 ��+�� �+�+ *��' 2�6 7��� �����>+ 7����� ��Q���� �1�$+�-�

 �1 ��+-30% ���++ - �6 �<)�� ��(�� �1�$+�� �� �50% ��(�� �1�$+�� �� 
��3
�� ����+K�:2.. VwCcQ =

G������B�� ��1�$+�����-� ������( �5KW �6� 2VAcQ 1500=

3142 == fw π��!� �6 ��� ��!���� ��3
�� /' R��
+ :
F

x
C µ5.82750314

1500 ==

��!�� ;�#��� ���� ���+1� �#�� 96FC µ105.8 ÷=.
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3:<��6R���(�
�� �� :
3-1:	
6�8���� ��
* ����! ��6� �
��3������ 2(!�� 4�:
e�?(O�c*�+��# ��� �1 T+���� ���+�� ���� );1�<� ��$�� /�3� (��(!  ���(+ ��1

 $�+.�)/��6Ω25/<��(+ 2mH20(�#���� /' ���!��� ����
�� 0����� ��)11(
c*O�e�?� /+��� �"�! 
��.+��! Simulink\Matlab.


�� �������)2(0����� C5� �� ��+���� �
!����� ����.�� *���'��+�� 
�� ��!� G3<�'
�1 ��1 ����+�� /' /�#�� C��+�� %iTHD G�F�! ��$��! �(��,� ����� ;�+.� ��1 
��α=0° I+(� α=120° :

�#��� ��!��(12) � ���� �#� I�1 ��=(�� ��)�# :� �)�+.��� *���'��+�� 
��� ���+�
 �(��D ����� ��1 /�#�� C��+�� ���160 ����!���� 0����� �3. �� L�5�2 �� .

�!���)11(2(!�� 4����� ��
*� �
��3����� S
��� ��	'����� :��	��
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�!���)12(����� 	�* �
���� �!� ����8 60�6�	 

��	6��)2(�
$
���� ���
'�� �
��3����� ��� /�$� 
2(!�� 4����� ��
*� �6�
���%iTHD 

α I peak I rms THD % H1 % H5 % H7 %
0 22.09 15.62 23.83 100 20.23 12.59 
5 22 15.56 24.18 100 20.54 12.76 

10 22.74 15.37 24.52 100 20.93 12.76 
15 21.28 15.05 24.76 100 21.31 12.60 
20 20.66 14.61 24.88 100 21.66 12.24 
25 19.89 14.06 25.03 100 22 11.93 
30 18.95 13.40 25.21 100 22.48 11.42 
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35 17.95 12.69 25.43 100 22.96 10.95 
40 16.72 11.82 25.7 100 23.54 10.31 
45 15.42 10.90 26.03 100 24.17 6.64 
50 13.96 9.87 26.44 100 24.91 8.86 
55 12.41 8.77 27.00 100 25.82 7.92 
60 10.79 7.63 27.85 100 27.05 6.63 
65 9.11 6.44 29.16 100 28.73 4.99 
70 7.33 5.18 31.36 100 31.22 2.95 
75 5.5 3.89 35.85 100 35.38 3.77 
80 3.64 2.57 45.42 100 43.76 12.17 
83 3.9 2.76 70.26 100 61.71 33.59 
85 3.46 2.45 74.73 100 64.7 37.4 
86 3.26 2.3 77.05 100 66.23 39.37 
90 2.48 1.75 86.57 100 72.33 47.55 
95 1.67 1.18 98.68 100 79.8 58.04 

100 1.02 0.72 111.09 100 87.43 68.53 
105 0.55 0.93 123.95 100 95.7 78.75 
110 0.25 0.18 138.9 100 106.12 89.6 
115 0.1 0.07 163.05 100 123.51 106.43
120 0.04 0.03 205.76 100 151.97 138.63

������ �� B(3�)2(I+( 
���# ����� ��1 ��!+1� ��1 90° /+>� ��:
��� ����.�� �!#���� ���� _�!+ ���B1 )72.33%(����� �(��D ����� ��190°.
��� ���� _�!+�� �
!���� �!#�����B1 ) 47.55% (����� �(��D ����� ��190°.
�/�#�� C��+�� ���1 ���� _�!+ )86.37%(.
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3-2:����� F	
�E �

��� 9����� ����� :

+X����1��! �)�+.��� 
���+�� *���� )��$�� ���3���� ����(�� (���+�� ���=� 
�6 ��

 ���.+�� /�� 2�#!��� *����+� /' ��!# �#�! ����# ���"�!��#�� *������+�� ���
)*-�!� �
$�+��� ��5E+�� *��(� 2S.M.P.،0����6 2*�����$!�� �(��� M��!�+

���
���…(.2�9�J� ��# �)�+.� 7+��� *�5 ���'��+ *����+ F��� I�D �����.+�� ���!
��!�� I�1 ��+
+ 9�(�� �1�$+�� ���1 *�5 ����( 
���+ ��B�6 ���B I�D g�6 �5� 2

2T��
+�� 6�!� *�.� ��B��� C5� /' ����!$+�� �� ���# *-��!��� ���� �����
�� *
�����+�� ��5E+�� *��(� 24�$��-� 
�1 ��B�62 �
$�+���…�� �#� 2+������ L���#

 ����
)�� *�(����� 
��.+�� /1�+�� ��� ��#��3#�� *������� 
�.+�+ *�����+�� ��
�+�� �� `�.+��*������� C5� ����=+ /+�� *���'�.

�+>� ���' ���� �
' P��� ����+! /T����! 
��.+��! ��$�� 9��(6 �)PSIM(L��5� 
��+� �#��� /' ��# ��$�� 9��(6 9��� 
���� ��(�� ���+ P�(13) . 

3-2-1:�*
���P� :��	 9���� �

3F	
�E����� :
B(3� �#��� ��(13) 24��)+�� I�1 ���=�� ����B� �� ;�>++ �1�$+�-� 0��� �6

 G3�(� ��$�� 9��(6 9����� 
����� 0��� ���� $�+.� ��(! R1=2Ω)،(L1=5mH 
������ 24��� 9��+������+ ��� �� ;�>+� 95��� 2 ��$�� 9��(�� P����� 0��� /

(IGBT)?� /����+ ;�� �!1 
���+�� ��� :� 9���+�� I�1 $!(L2=3mH) ��( 2
a,b ��+����� ;��$�� :� ��=�� ;�#� I�D �'�<D 2�#!��� �.�� :� $!��� $���

  ��1 ��$� 95�� �����(D.C. Link)G��B�� 2�/�'�$ I��1 ��+���� �+�+�� �

��B�+ ���( I�D W�+(� 9��+������+�� ����� :� �=���� ;�#��� ���' 2 ��'��<D 

]R�d
S+\�d� �1 ��+���� �+�+�� :!��!VVdc 750=/'2 ����+�� F���6 $���!+�� L�5�
[7] . 



�������� 
��
�� ���� �
��� ���������
��� ������ ������ ����� ��
�� �2007�.��������.��������. ����! 

155 

�!���(13) :T�U(V�W� 2��� �(�
!�� :��	�� ��'���� @(* S�
.
3-2-2:� :	
�� :��	9���� :

/+�� P����� 0���� 0��� ;�>++ c*O�e�?��#��� /' ���!����(13)  �� :

a

b
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��� ������� ������ �� ;1�<� P��� Z��$ 0��� :� ��= �.��+ ��( 20����D
���+�� M�� �� ��(�� ���+)Current sensor (����"��� �!#���� ���� `�.+��'
 #�+� /+��� ��!���� ������ �N
O� �� 
�� 2�#!��� ���+� �!��$��� ��
����� 0���,� 

+S$\�]Zh������ I�1 ��=(�� ��
����� 0���,� C5� �� ������� ��(�� ���+ 0���D
P����� ���+� �!��$��� .�#����)14(���(�� C5�� $!��� ����+ P<�� .

�!���(14) :��� ������ @(* ��?�(� ����� �
��� 9������ :��	9����� �
��� �$�(�.

�#����)15(��� P<�� C���6 0��= ���+ �!#�� 0���D ��(��)M��( �� 05�.>����
���+��Current sensor (� *���'��+�� 9�+(+ /+�� 0���= ���!���� ��!#���� 0����D

 �������  �� �=�.+���� �#!��� ���+� �!��$��� ������ �#�+� /+�� .��+����,� ����
 �� ��+����+��. �� 0���,� I�1 ��=(�� ������� �3 /�+��� P����� ���+� �!��$���
 �������(Error signal).�#���� (16) C5� �#� ��!�0���,� 2c5dD *����E+�� �6 ��� 

�+�� �5� /' D ���(! 2��(�� ���+ 0���D ��E+! ��
++ ��N�G����� 9�J�� ����1���� 
��� �#��� I�1 ��=(���$��� P����� /!��#!��� ���+� 7�.
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�!���(15) :/* :��? �?('����� ���
��� �$!���� ,� ����� �
�� 
2-� 	
$ #��0.5sec 

�!���(16):9����� �
��� �$�(���� ������ �!� )Error signal. (
�
B���� 0��� :�#��� /' ��# /���#+ /!���+ 
B�� �� ;�>++�(17) ��( 2?�����S+

 �3. ��P����� ���+� �!��$��� ������ )Error signal(��& �.���� I�1 ��!$���� 

NOUSر اEZCب@rsOSا WQXRSر اEZC

JKLOrS ب@rsOSر اEZtSا
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B���� M#�
�� )In2(�����(�� ������ :� )I filter (M#��
�� �.����� I�1 ��!$���
)In1(�� 2��(+ ��6 �� ��(� I�D 
B���� �5� W�. �=� W��.�� 0����D ��$� �
)>$.�� 0���D (������ �!������ ���(�� ��< ��#+0.0���D 0����� C5� W�. �#���

 �<!��� R�1 ���
+ 
�B� 0���� �.�)P.W.M(.

�!��� (17):2(�
!��� 2$�
���� �7���� :��	 )PI regulator(
��<!��� R�1 ���
+ 0��� (Pulse Width Modulation) PWM :C5� �� ���E��

 �#��� /' ���!��� 0�����(18) $.�� 0���D ���� ������ 2
B���� W�. I�1 ��+���� >
����(�� �������� ������ :� /���#+�� /!���+��)Carrier(����+�� ����+.� 
+ ��( 2

����! ����(�� ������ C5�� 7������10KHz . 

�!���(18) ::��	 9-����	
��-$��� >�* ( P.W.M ).

I filter 

Error signal

To PWM
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.J+ ������� /�$���� W�.�� 0���D 5)0,1(��#
� �6 0���!� ��D !��! I�D G���$�� ��
����� /' 7������ ��+������+��2��()G1,G2,G3,G4 (��=��
�� *�!��! ���+

 ����+������+��)IGBTs(.
�#����/+K� (19) G3���+ P<�� �<!��� R�1 ���
+ 
�B� ��1 6�!�� 
�+ ��( 2

�����+ ��!�� ����� ���# ��� ������  �'50Hz ����$��1.8V ����( ���� :� 2
�����+ ������500Hz ����$�� 2V.

�!���:(19) �-$��� >�* ��	
� ��* E	$� /�$� ( PWM. ).
�#��� �� B(3� ������� �� �!#6 ��
����� 0���i� ���$��� ������ ��#+ ����1  �6

��� �������� 0���i� ���$)����(��(��(�� ����� I�1 ������� W�. /' �=(� 2)1(
/�$������1 ��6 2�E=6 ��#+ '�)= ������� W�. ���� ��#+G�)0(��$�� G�.

3K3:BA
�� �������:
��#��� ��!+��+K� 95�� T����!�� 5�)�+ �� ����1 ��=(�� 
+ /+�� ����+�� T"�+� ]:d<?�

 �!��$��� 0�����)�#���13(.�#��� P<���)20(� G3# 9���(6 
����� ��(�� ���+ �
�� P����� ���+� 2��$����
)� 2P���+�� �
! /"����� �#!��� ���+ .F�! L�5�G������ �� 
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t = 0 s�#��� ���� ��( 2(20-a) ��+���� *����+�� ��#�6 ��( /' 2��!� �#���(20-
b)*����+�� C5� �� G3#.

�!���(20-a) :/� C�<	$ X

� ������� ��(�* /� �6�
��� ���
���� �
!�E /�$�t=0 sec.

�!���(20-b) :/� C�<	$ ������� ��(�* /� �6�
��� ���
���� �
!�E /�$�t=0 sec.
�#��� ��!��(21-a) C���� ��� �
! *����+�� C5� *���E+t = 0.5 sec ��E��+�� �� 

����+�� ���!+� ��
)�� P����� ��1 .c5dD *���� :� /1�)+�� ��
)�� P����� �6 B(3� 
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 /+�� 0������� 
#(+��?<d!O$c*2/���� �#� I�1 ��=(�� �#!��� ���+� /!�� ��� Y��.
*����+ �6 *���'��+ ��6.

�!���(21-a) :/� C�<	$ ������� ��(�* /� �6�
��� ���
���� �
!�E /�$�t=0.5 sec.

�!���(21-b) :/� C�<	$ ������� ��(�* /� �6�
��� ���
���� �
!�E /�$� t=0.5 sec.
��#��� ��!�(22) ���'��<D �!� �#!��� ���+ ���� /' ������� *���'��+ ���� P�� 

�
!�C2c5dD� B(3� �#!��� ���+ /' *���'��+�� 
��
� .
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�!���(22)  ����� �
�� �
��3��� /�$� I load �!$��� �
��� I mains 9������ 	
$ .
4:���
'�� :
1.0����� ��B�6 ����+ /' *�����!�� 
��.+�� �3. �� !��#�� ��"�)T����! PSIM(2

+����D ��
)�� P����� /����+�� W5����� 9��(6 D I�1 �1�� 95�� ��$�� T"��+� ���B

 ���
)�� *�(����� ��1 G3��( ��# 95�� �#!��� ���+ �6 ;�#� 2*���'��+�� �� ���
�� 2
#��� /!��� G�!���+� �#!��� ��� �� ��
)�� P����� $!��� 0��1 �!� P!=6�.
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2.��.+�� �� �'�
�! ��� P��� *�����!�� 
���
�� 
�B� *���#� �� �=�1 �# L� 2
0����� /' 0���D ��6 M��� �#��  �6 L�5� ����� :� ��+���E+� ����� �'�
�� �5��� 2

��� P���0����� �=��
� 
����� ���+.-�! .
3.�����6 ����1 /1�)+�� P����� /' ���.+���� *�)�#��� �
� ���+.� *�(����� /'
�����
) !# ���  � ;�#��� �5� I�1 �!$��� ��+���� �+�+�� ���� ���+.� �6 ��# 2/' ��

/1�)+�� P����� F��6 ���(+.
4.��
�� /'�$ I�1 ������! ���� /+�� ����
�� *�F����� ��!+ /�' ����+������+�� �=

 9���+ ��!� G��!��� ���!# �=)��� �=��� *�B(� /' >��� 95�� �!�
�� �+�+�� �6 2
�!�0����� /��-� �+�+�� :� ������ I�D �=� ��� 2��#6 �6 :!���� �+�+ ����6 ��3�.
5.G����1 G����+��� �!���� ����+�� ����1 T"�+� I�D ���+.� ����1 *��� /+�� ��*�!����� 

(Vdc,C,L) G����( 
��� 2�+! )?� 9��� W�
� 5� ������ /�' 7���(�� �$����! ���
 /���(��L�5�
�B� 
��.+��! ( Digital Signal Processor ) W5���� ( DS- 1104) 


�B� 7�( �)�+.� ��1 *����+ ��1 ��
� ��
' P��� ���(+�(P.W.M.) 0�������� 2
��1�
���(Vector Control ).
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